
BOL CABLE RAILING SYSTEM 
IBC 2018 AND IRC 2018 

1/16/2023 

JACEK SLUZYNSKI, P.E. 
BARRETTE OUTDOOR LIVING 
2401 CORPORATE BLVD • BROOKSVILLE, FL 34604 
(352) 754-8555  



ffiB
iij sr
a: 

d,
(ro
:z u,
ut 

6_

J*C
}

ifrr.tJ
il-.-)tt*

E$)zN:)Jg))<trl
(-)
..)

es

os
Q

^.a

-.o
.*

o3

=
,.o

56
rc

()L+a4
i'*L.,
uostr:,

o1'oo.
t--

o{)(sotD&

:T( 
(,)

:ii 
B

.t]g
f0l
.JC

oo
'ap
E

5
8.b
5(l)
$.8
*tE

,i
E

A}E,gt
uU

)
o(D

=
&o5oPtr{)

-H-o .*,
9EE

d
(s-
Q

- 
19

E
E

o- 
6s

iriBE(:,
C

r.

I"-rdo"o(t.cto)
o.oEo.c

l,t

,.*l

El,1I

Y
E

thttl

J7g(o$uIroctL

.J\
s566ar

If!6)o-9

Jg4)r

{B
.ftffi

'V
;; ,i,,,,,,tt

t

JJ
I

LL
()uJ

o.)
(o(:)(t<

t
z

b
E

st4
tliltl

€4
rc

o

n'lli!t!
tI

\o

cd :*
U

ld
siQ
A

 
"t

E
Rtllp.

5
irl f-
9(;;)P

l
V

t +

li

,l

.A

o{p6a(f)
H

HciO
z*

o-

*

(}

i

E
<

",
.,4 

c0
il3+

s
3q6:
'd 

z
uo

T
S

E
a,

lz (/) r-
fr=

3
tsIfi

a

r\tl 
t I t t '

\\
I

1

*s{A

-9

e

otr,
(r)

ul(JJ



_>

a3

tt 
.'J

c\ll 
{.r1

*l i*
E

rs &
-

zoouldo

lrjo-ot.oF
l

- -"r>
U

'
tlJT

tr

xIJJ

-gd

--5c
r€*C

$
lllll(f)c{o)(oc.l

*{-
s=

a

lttttttt

-rb

:
-at-J
o
rc

t\h\

*5rra\$

c*

T
E

S,,

f

*L
s

u3
*

t&Z

-E
g

u+
i

35;(/)-

ta, .n
t4 cr
f' 

\o
fiRq3a6o
"rd
U

JA
<

- 't
F

+
#

Jz( ).

c
llil\\{

3*
,,,

It
ttl

G
(!

o'9

I

ll
tt

l1

!1

U
lk

..s

r56

oo
Jfo
<

tr)
lrl {r}
u>

 €)o



GENERAL NOTES 

1. The  "Cable Railing”  (guard)  meets or exceeds  2018  International Building  Code (IBC) section 1607.8.1. 1 & 1607.8.1.2.  
(for  one and two family dwellings)  and 2018  International Residential Code (IRC) section R301.5.

2. Loads:

2.1. The top railing of the guard is capable of transferring to the anchoring connection a point load of 200 pounds (Residential applications).

    2.2. The infill (cable) are capable of transferring to the anchoring connection a horizontally applied normal load of 50  pounds  exerted over 1 
square foot. 

3. The professional engineer (PE) is responsible for the design of the guard to the bottom of the base plate, to the bottom of the post, and to the

mounting surface of the upper and lower railing wall brackets.  The PE is not responsible for the design of the anchoring substrate, such as, concrete 
or wood.  Except for the fasteners specified, the PE is not responsible for the selection or location of the anchoring fasteners. 

4. The use of this specification indemnifies and saves harmless the PE from all cost and damages including legal fees and appellate fees resulting

from material and part fabrication, manufacturing, assembly, system design and erection, construction practices, and Barrette warranties.  Neither 
the PE nor Barrette shall be held responsible or liable in any way for the use of this product in applications other than shown on this drawing. 

5. Materials and manufacturing of the guard shall be in accordance with the Aluminum Association's 2015 "Aluminum Design Manual".

6. All guard extrusions shall be aluminum 6005‐T5. Cables and brackets 316 SS.

7. All guard fasteners are 410 stainless steel.

8. Barrette manufacturing tolerances for the guard are equal to or tighter than allowed by the IBC and IRC.  Contact Barrette for specific tolerances.

9. All concrete shall be uncracked only, with a minimum compressive strength of 3000psi and shall be minimum 1.5X thicker than any anchor
embedment. All epoxy and grout shall meet or exceed compressive strength of the concrete and shall be iron‐free, non‐shrink and non ‐reactive. 
Concrete footers shall contain min 0.1% fiber mesh admixture per CY. 

10. All wood shall be pressure treaded No. 2 Southern Yellow Pine with minimum specific gravity, G=0.55



11. Surrounding soil to be compacted to 98% optimum density, 2500 psf minimum and

12. Insulate aluminum from dissimilar metals  to prevent electrolysis.    Insure all bare metal  is protected from corrosive environments such as
installation near the ocean. 

13. Neither the PE nor Barrette is responsible for construction tolerances, field dimensions, or installation of the guard.

14. No changes are allowed without written authorization from the engineer.

15. Copies of this drawing without an original signature and seal of the engineer are invalid.

16. No inspection was made at this jobsite and the design depicted herein is based upon data supplied by the contractor. This engineer is to not
be  held  liable  or  in  any  way  responsible  for  the  use  of  any  inaccurate  information  supplied  by  others.  The  contractor  shall  field  verify  all 
measurements and information used in this design before any changes  are made to field condition, fabrication and the installation of the materials. 



 2.9 

 4.00 

 36.03 

 68 

 72 

 33.72  0.55 

 2.62 

A

A
MID BALUSTER SUPPORT

 32° 

STAIR SECTIONS HAVE 
A WORKING RANGE OF 

26-38 DEGREES

B

C

SECTION A-A

 2.00 

DETAIL B
SCALE 1 : 4

Ø.125" CABLE
7X7 WIRE 
CONFIGURATION

DETAIL C
SCALE 1 : 4

BEAM

RAIL

TENSIONER

ELEVATION RAIL DETAILS

NOTE:
(A) FINISHED RAIL HEIGHT = 36"
(B) PANEL LENGTH = 68"
(C) MAX IRC SPAN = 72" X 36"

NOTE:
(A) MAX STAIR RAIL LENGTH = 60"

ELEVATION LEVEL AND STAIR RAIL
THE INFORMATION CONTAINED IN 
THIS  DRAWING IS PROTECTED BY 
COPYRIGHT AND PATENT LAWS 
OF THE UNITED STATES AND 
OTHER COUNTRIES. ANY 
REPRODUCTION IN PART OR AS A 
WHOLE WITHOUT WRITTEN 
PERMISSION IS PROHIBITED.

DRAWN:

DESCRIPTION:

REVISION

N/A0
PART NUMBER

DATE:

SCALE 1:24
SHEET 1 OF 7

CH 05/11/2022

WEIGHT: N/A

APPROVED:
 



 4.00 

 4.00 

 0.13 

 0.21 

CORNER

 4.00 

 2.00 

 0.13  0.20 

END

 4.00 

 2.00 

 0.155 

 0.13 

 0.25 

LINE

 1.50 

 1.86 

 1.00 

BEAM

 3.00 

 2.00 

RAIL

POSTS AND RAILS

POST AND RAIL DETAILS

N/A

THE INFORMATION CONTAINED IN 
THIS  DRAWING IS PROTECTED BY 
COPYRIGHT AND PATENT LAWS 
OF THE UNITED STATES AND 
OTHER COUNTRIES. ANY 
REPRODUCTION IN PART OR AS A 
WHOLE WITHOUT WRITTEN 
PERMISSION IS PROHIBITED.

DRAWN:

DESCRIPTION:

REVISION

NEXT CABLE - CORNER POST - EPN-
0988 - 35.688"
34116455

BARRETTE
Outdoor Living

0
PART NUMBER

DATE:

SCALE 1:12
SHEET 2 OF 7

CH 05/11/2022

WEIGHT: N/A

APPROVED:
 



 0.38 

 4.50 
 3.00 

NUT

ALUM BASE
PLATE

3/8" DIAMETER THROUGH BOLTS 
INTO SOLID WOOD .
SEE MOUNTING SCHEDULE ON
LAST PAGE.

WOOD BLOCKING
AND FRAMING BY 

OTHERS

POST PER 
PLAN

WASHER

 0.39 

 3.25 

 3.00 
 4.50 

BASE PLATE

POST

1/4" WELD 
AROUND

 4.00 

 36.06 

 2.00 

 4.50 

 0.31  3.50 

 5.25 

WOOD BLOCKING
AND FRAMING BY 

OTHERS

POST PER 
PLAN

4 LAG BOLTS INTO SOLID 
WOOD 3/8" DIAMETER MINIMUM
SEE TABLE AT SHEET 11 OF 15

ALUM BASE
PLATE

 2.00 

 0.38 
 4.50 
 3.25 

WASHER

NUT

3/8" DIAMETER THROUGH BOLTS 
INTO SOLID WOOD .
SEE MOUNTING SCHEDULE ON
LAST PAGE.

 0.38 

POST PER PLAN

ALUM BASE 
PLATE

ANCHOR INTO 
CONCRETE. SEE 
MOUNTING SCHEDULE 
ON LAST PAGE.

 0.38 

CONCRETE BY 
OTHERS

ANCHOR INTO 
CONCRETE. SEE 
MOUNTING SCHEDULE 
ON LAST PAGE.

WATER PROOF 
MEMBRANE BY 

OTHERS

ALUM BASE 
PLATE

POST PER PLAN

SURFACE MOUNT DETAILS

WOOD BLOCKING
AND FRAMING BY 

OTHERS

WATER PROOF 
MEMBRANE BY 

OTHERS

CONCRETE BY 
OTHERS

THE INFORMATION CONTAINED IN 
THIS  DRAWING IS PROTECTED BY 
COPYRIGHT AND PATENT LAWS 
OF THE UNITED STATES AND 
OTHER COUNTRIES. ANY 
REPRODUCTION IN PART OR AS A 
WHOLE WITHOUT WRITTEN 
PERMISSION IS PROHIBITED.

DRAWN:

DESCRIPTION:

REVISION

SURFACE MOUNT DETAILS

N/A0
PART NUMBER

DATE:

SCALE 1:1
SHEET 3 OF 7

CH 05/11/2022

WEIGHT: N/A

APPROVED:
 



 4.50 

 0.31  3.50 

WOOD BLOCKING
AND FRAMING BY 

OTHERS

POST PER 
PLAN

4 LAG BOLTS INTO SOLID 
WOOD 3/8" DIAMETER MINIMUM.
SEE MOUNTING SCHEDULE ON 
LAST PAGE

ALUM BASE
PLATE

 2.00 

 0.38 
 4.50 

 3.25 

4 LAG BOLTS INTO SOLID 
WOOD 3/8" DIAMETER MINIMUM.
SEE MOUNTING SCHEDULE ON 
LAST PAGE

SURFACE MOUNT DETAILS

SURFACE MOUNT DETAILS
THE INFORMATION CONTAINED IN 
THIS  DRAWING IS PROTECTED BY 
COPYRIGHT AND PATENT LAWS 
OF THE UNITED STATES AND 
OTHER COUNTRIES. ANY 
REPRODUCTION IN PART OR AS A 
WHOLE WITHOUT WRITTEN 
PERMISSION IS PROHIBITED.

DRAWN:

DESCRIPTION:

REVISION

N/A0
PART NUMBER

DATE:

SCALE 1:1
SHEET 4 OF 7

CH 05/11/2022

WEIGHT: N/A

APPROVED:
 



TOP STAIR
(TENSIONER A)

LEVEL

DETAIL F
SCALE 2 : 5

NOTE (B)

RESTS AGAINST POST

BOTTOM SITS 
ON BEAM

NOTE (A)

BRACKETS & ACCESSORIES

LEVEL CABLE GUIDES STAIR CABLE GUIDES

TENSIONERS

BOTTOM STAIR
(TENSIONER B)

NOTE:
(A) 9/16" SOCKET OR WRENCH USED TO TURN BOLT
      TO TENSION CABLES
(B) SPRING WILL COMPRESS AND SPACE
      WILL CLOSE ONCE 250LB LIMIT IS REACHED

THE INFORMATION CONTAINED IN 
THIS  DRAWING IS PROTECTED BY 
COPYRIGHT AND PATENT LAWS 
OF THE UNITED STATES AND 
OTHER COUNTRIES. ANY 
REPRODUCTION IN PART OR AS A 
WHOLE WITHOUT WRITTEN 
PERMISSION IS PROHIBITED.

DRAWN:

DESCRIPTION:

REVISION

BRACKETS & ACCESSORIES

N/A0
PART NUMBER

DATE:

SCALE 1:2
SHEET 5 OF 7

CH 05/11/2022

WEIGHT: N/A

APPROVED:
 



 4.82 

 1.25 

 2.51 

 4.59  5.00  2.17 

 3.13 

 2.17 

 3.13 

 1.25 

 5.14 

 4.56 
 8.21  7.42  2.21 

 3.50 

 2.21 

 3.55 

 6.50 

 3.33 

CORNER CAP

 3.13 
 1.47 
 1.92  2.17 

 3.03 

BRACKETS & ACCESSORIES

POST CAPS POST TRIMS
LEVEL LINE CAP LEVEL END CAP

STAIR LINE CAP STAIR END CAP

STAIR ADAPTER

LINE & END POST TRIM RING

CORNER POST TRIM RING

THE INFORMATION CONTAINED IN 
THIS  DRAWING IS PROTECTED BY 
COPYRIGHT AND PATENT LAWS 
OF THE UNITED STATES AND 
OTHER COUNTRIES. ANY 
REPRODUCTION IN PART OR AS A 
WHOLE WITHOUT WRITTEN 
PERMISSION IS PROHIBITED.

DRAWN:

DESCRIPTION:

REVISION

BRACKETS & ACCESSORIES

N/A0
PART NUMBER

DATE:

SCALE 1:5
SHEET 6 OF 7

CH 05/11/2022

WEIGHT: N/A

APPROVED:
 



MOUNTING SCHEDULE

LAG BOLT               
-OR-                 

THROUGH BOLT      
-OR-          

CONCRETE 
ANCHOR

3/8" HEX BOLT             
3/8" FLAT WASHER     
3/8" LOCK WASHER            

3/8" NUT

FOR COMMERCIAL APPLICATIONS 42" HIGH

PANEL  
WIDTH LOAD

RECOMMENDED 
BOLT 

APPLICATION

FOR LAG BOLT 
APPLICATION 3/8" 

DIA. SCREW. 
MINIMUM EMBEDDED 

SCREW THREAD 
LENGTH REQUIRED

FOR THROUGH BOLT 
APPLICATION

FOR CONCRETE ANCHOR APPLICATION 3/8" 
TITAN HD ANCHOR MINIMUM REQUIRED 

LENGTH (MINIMUM DISTANCE OF 4" FORM 
EDGE REQUIRED)

8FT 400LBS
  THROUGH BOLT      

-OR-          
CONCRETE 

ANCHOR
3.5IN

3/8" HEX BOLT             
3/8" FLAT WASHER     
3/8" LOCK WASHER            

3/8" NUT

4IN

6FT 300LBS

  LAG BOLT             
-OR-            

THROUGH BOLT      
-OR-          

CONCRETE 
ANCHOR

3IN 3IN

4FT 200LBS 2.5IN 3IN

FOR RESIDENTIAL APPLICATIONS 36" HIGH

PANEL  
WIDTH LOAD

RECOMMENDED   
BOLT       

APPLICATION

FOR LAG BOLT 
APPLICATION 3/8" 

DIA. SCREW. 
MINIMUM EMBEDDED 

SCREW THREAD 
LENGTH REQUIRED

FOR THROUGH BOLT 
APPLICATION

FOR CONCRETE ANCHOR APPLICATION 3/8" 
TITAN HD ANCHOR MINIMUM REQUIRED 

LENGTH (MINIMUM DISTANCE OF 4" FROM 
EDGE REQUIRED)

6FT

200LBS

3IN 3IN

4FT 2.5IN 3IN

THE INFORMATION CONTAINED IN 
THIS  DRAWING IS PROTECTED BY 
COPYRIGHT AND PATENT LAWS 
OF THE UNITED STATES AND 
OTHER COUNTRIES. ANY 
REPRODUCTION IN PART OR AS A 
WHOLE WITHOUT WRITTEN 
PERMISSION IS PROHIBITED.

DRAWN:

DESCRIPTION:

REVISION

MOUNTING SCHEDULE

N/A0
PART NUMBER

DATE:

SCALE 1:1
SHEET 7 OF 7

CH 05/11/2022

WEIGHT: N/A

APPROVED:
 


	1. Barrette Outdoor Living- Tiltle page Rev 0
	2. Stamps Rev 0
	IMG_20230116_0001
	IMG_20230116_0002

	3. GENERAL NOTES Rev 0
	4. ELEVATION ARCH SPECS 1-16-23 Rev 0
	1
	Drawing View2
	Drawing View3
	Section View A-A
	Detail View B (1 : 4)
	Detail View C (1 : 4)

	2
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8

	3
	Drawing View17
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View48
	Drawing View49
	Drawing View51
	Drawing View52

	4
	Drawing View13
	Drawing View53

	5
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Detail View D (1 : 4)
	Drawing View27
	Detail View E (1 : 4)
	Detail View F (2 : 5)
	Drawing View56

	6
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46
	Drawing View47

	7




